

1 (a) Rearrange $m = p + 2$ to make p the subject.

[1 mark]

$$p = m - 2$$

Answer $p = m - 2$ (1)

2 Rearrange $g = 3h - 1$ to make h the subject.

[2 marks]

$$g + 1 = 3h \quad (1)$$

$$h = \frac{g + 1}{3}$$

Answer $h = \frac{g + 1}{3} \quad (1)$

- 3 Rearrange $m = p - 5$ to make p the subject.
Circle your answer.

$$p = m + 5$$

[1 mark]

$$p = \frac{m}{5}$$

$$p = m + 5$$

①

$$p = 5m$$

$$p = m - 5$$

4 (a) Rearrange $d = h - 4$ to make h the subject.

[1 mark]

$$h = d + 4$$

$$h = d + 4$$

4 (b) Rearrange $p = \frac{w}{3}$ to make w the subject.

[1 mark]

$$w = 3p$$

$$w = 3p$$

5 Complete these statements.

[3 marks]

$$\frac{4x}{\cancel{1}} + 5x = 9x$$

$$y \times \frac{y}{\cancel{1}} = y^2$$

$$\frac{3t}{\cancel{1}} - 2t = t$$